Bellwork  Alg 2B  Tuesday, January 23, 3018

1. Simplify each. Assume all variables are positive.

a) IJ6m>p? - 12m?*p’ b) ———

2. Simplify each. Use absolute value symbols when necessary.

a) 8021557 b) 54c648

3. Write the equation of each function.

a) b)
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4. Write the equation of the inverse relation to f{x). fx) = 2(3x+1)5+6

5. Solve. logx +log(x+15) =2

Wﬁ[C?)

6. Use all three properties of logarithms to expand this logarithmic expression.  log, (W

7. State the percent change is modeled in this exponential equation.  y = 2048(0.809)*

8. Use the given information to write the equation of this parabola: Focus: (9,—-4)  Directrix: x = 2

: . 6 -6 —-12 3
9. State the next three terms of this sequence: 31°37°°49 570
. - : . 1 4 9 1
10. Write the explicit formula for this sequence: 0, 254803460
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